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INSTRUCTIONS TO CANDIDATES

Read the following instructions carefully before you answer the questions. Answers are
to be given on the answer-sheet, which combines both the tests:

Please write your Centre Code and Seat No. very clearly (only one digit in on block).
Before writing your Seat No. get it ascertaine from the Centre Conductor. Please see that
no block is left unfilled and even zeros appearing in the Centre Code and Seat No. are
correctly transferred to the appropriate blocks on the cooklet and on the answer sheet.

Example :

CENTRE CODE &g %di¥

SEAT NO. 214, 5415

10.

For all subsequent purposes your Centre Code and Seat No. shall remain the same. Centre
once alloted will not be changed

All questions carry one mark each.

Since all questions are compulsory do not try to read through the whole question paper
before beginning to answer it.

Begin with the first question and keep on trying one question after another till you finish.

If you do not know the answer to any question, do not spend much time on it and pass
on to the next one. Time permitting you can come back to the questions which you have
left in the first instance and try them again.

Since the time alloted is very short you should make best use of it.

Remember you have to mark on your answers in “Scholastic Aptitude Test” Section of
the answer-sheet only.

Answer to each question is to be indicated in the answer-sheet by encircling with black
pen in the appropriate number of alternative inthe answer-sheet from amongst the ones
given for the corresponding question in the test booklet.

Do not write anything except Centre Code Seat No. and rough work anywhere in this
booklet.

Now turn to the next page and start answering the questions.
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oisly ool Aec{Hi dlAxidl 5y [Quq 1oy 9 ?

(1) Aosld v is0{lo 24158 €9,

(2) Aoisla v sisoelload edl Al

(3) Yoisla otvpL sl g 45d 9.

(4) Yoisla ot sHall G gauiadl Hlsoll el ga Yl ad o,

24Ul (301 244 vLaldd (3391 240 61 444l voll 900 €14 dl, UMLd S8l (1) 241 uRlaldd
S18L (1) L HIY $edl ¢l ?

(1)i=45, r=90°

(2)i=90°, r=90°

(3)1=90°, =45

(4) 1 =45, r=45°

A1l 5y BsH dAuMiA (GUAdMLIA) HYaL M2 AuRAME sldd el ?
(1) 343l (Cal)

(2) AlRA (°C)

(3) 331l (°F)

4) sl@- (K)

N\

UAS 1.5 V [Adaidz-l 4 [Qgd slallq ol23] a3udl Azaldl e, dl el [Amaidr sed,
199l ?

() 1.5V (2) 45V
(3) 5.5V 4) 6.0 V

tq( d2oudl awdalRdl ......... L VLSHHL HUALML 2 69,
(1) Hl2: (m)

2) dlez (1)
(3) €% (Hz)
(4) 543l (Cal)
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[ SCHOLASTIC APTITUDE TEST]

Which of the following statement is incorrect with respect to magnetic lines of force ?

(1) Magnetic lines of force attracts each other.
(2) Magnetic lines of force does not intercepts each other.
(3) Magnetic lines of force repels each other.

(4) Magnetic lines of force starts from north Pole and ends South Pole.

If the angle between the incident ray and the reflected ray is 90°, what are the values of
the angle of incidence and angle of reflection ?

(1)i=45°, r=90°

2)i=90°, r=090°

3)i=90°, r=45

(4)1=45°, r=45

Which of the following unit is not used for measuring temperature ?
(1) Calorie (Cal)

(2) Celsius (°C)

(3) Fahrenheit (°F)

(4) Kelvin (K)

4 electic cells of potential difference 1.5 V each have been connected as a battery. What
will be the potential difference of battary ?

() 15V (2) 45V
3)55V (4) 6.0V
The frequency of sound waves is measured in ......... unit.

(1) meter (m)
(2) litre (I)
(3) Hertz (Hz)

(4) Calorie (Cal)
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6. 26lAUR B Vs HigHl 253l A% 98 N 9. 253l aldai-l dois 0.5 Hle: i uglous
0.2 Hlex © dl d 253l oA U 52¢ eollRl UYsd 59 7

(1) 980 Pa (2) 98 Pa
(3) 9.8 Pa (4) 0.98 Pa
7. AlRA-usiell oaui A oludAdl A eld ddl el 55 7
(1) g (2) doud
(3) AHU (4) U
8. g Aleslel 5 A3l 1000 AR $u 52 9. dl dxidl [Aule a-iR Al aidalRkdl sedl ?
(1) 5000 Hz
(2) 500 Hz
(3) 200 Hz
(4) 2000 Hz
9. wellmi Al viadl dzg wsluz d ¢, s —

~

(1) was 60, d3cfla o1 sdi ay €ld 6.

-~

(2) wlas 60, d3cdld oo sl 2ileg €1y 9.
(3) wWlds oo i A3y 6loL AHIA Sl 8.
(4) RgUR 23cdly oo (a1 s3g el

10. MHd ......... L RAlRdlAL ] Aol a3 o,
(1) 1 Hz ®l 20,000 Hz
(2) 20 Hz 4l 20,000 Hz
(3) 1 Hz 4l 2,000 Hz

(4) 20 Hz 9l 2,000 Hz

11, Y-l Se™Ml ..., 2w HuRld, s1d 52 9.
(1) 8Ll (2) eleun
(3) 2[R+ (4) “UH2lot
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6. A metal block of weight 98 N is placed on table. The bottom length of block is 0.5 m
and width 0.2 m. Find the pressure exerted by block on the table ?

(1) 980 Pa (2) 98 Pa
(3) 9.8 Pa (4) 0.98 Pa

7. Choose the incorrect quantity from the following group Mass, Length, Time, Speed.
(1) Mass (2) Length
(3) Time (4) Speed
8. A tunning fork vibrates 1000 times in 5 second, then find the frequency of sound
produced by it ?
(1) 5000 Hz
(2) 500 Hz
(3) 200 Hz
(4) 2000 Hz

9.  The object floats on water because -
(1) Buoyant force exceeds the gravitational force
(2) Buoyant force is less than the gravitational force
(3) Buoyant force and gravitational force are equal

(4) Gravitational force is not acting on object

10. ... frequency of sound can heard by human.
(1) 1 Hz to 20,000 Hz
(2) 20 Hz to 20,000 Hz
(3) 1 Hz to 2,000 Hz

(4) 20 Hz to 2,000 Hz

11. In centre of sun ........ acts as a fuel.
(1) Hydrogen (2) Helium
(3) Oxygen (4) Nitrogen
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12.

13.

14.

15.

16.

17.

f2AAniel olea AUl sy © ?

(1) ALS2 ) H1§

(3) o451 (4) [BHldlo{lA
ualdl e 8 veld-l [@uuiol FBawe ... ERE
(1) slaa (2) alaL

(3) [Rdoin 4) A3

CaCO, +2HCl > A+B +C
Gual WEBUHIAL A, B 241 C 200l

(1) CaCl, + CO, + H,0
(2) CaCl, +2 CO, +2 H,0
(3) CaCl, + 2 CO, + H,0

(4) CaCl, + CO, + 2 H,0

uefl adlnid s34 HARS ULl iy vl (dael) sl s 8 ?

(1) RNA (2) DNA

(3) HCI (4) H,80,

A UBAHL A HIRSA Al 2adl sarHidl 2ilsaee siidl 9g sl w12 wEaL 24

.......... AUl UYL 9.

(1) CO, 2 wisll

(2) CO, i1 H,

(3) CO, ¥t U2\t

(4) H,S >t wsll

{1242l 2151078 Al 54 ?

(1) 152 (2) HlRyy

(3) Rl 4) Y2
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12.  Which is the complex compound among the following substances ?

(1) Sugar (2) Common salt
(3) Glucose (4) Haemoglobin

13. Heterogeneous mixture of a liquid and a solid is called a ......... .

(1) Colloid (2) Solution
(3) Suspension (4) Alloy

14. CaCO, +2HClI > A+B+C
Identify A, B & C in above reaction.
(1) CaCl, + CO, + H,O
(2) CaCl, +2CO, +2H,0
(3) CaCl, +2CO, + H,0
(4) CaCl, + CO, +2H,0
15. Name the acid that decides the heredity property in our body.
(1) RNA (2) DNA
(3) HCI (4) H,S0,

16. During the process of respiration glucose in the cells reacts with oxygen to form

(1) CO, and water
(2) CO, and H,
(3) CO, and nitrogen
(4) H,S and water

17. Which is the inorganic compound among the following ?
(1) Sugar (2) Blue vitriol
(3) Urea (4) Camphor
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18, 2AZlHL gjutet UBuL [REbBid sa s dlaxiell A+l siagusdl eld o ?
(1) Uleleiell Q9L A Avl ard].
(2) =y42l=u-ll Aol vt AvyL il sl
(3) =42l Aot Al 24 AvuL edl sl
(4) Gunidl siduel Al
19. L 20 saudl dasai qxaldl audl sedl sin ¢ ?
(1) 2 ) 8
(3) 18 4) 6
20. a1l sUL UslRd RS ey © 7
(1) ul2s 2R
2) 212iRs 2R3
(3) viRiles i3

4) alses 2R

21, AANAUBRS viideAL 2lads Aldauian i Wdldl gl L o, UHISL 98 69,
(1) 619 (2) 1R
(3) &R (4) 20l 2usuel ALl

22, %R %Al UIRLELAS AR A[Zd GUAIRML 541 UsIRAL (3ol uHaALFLSL GUuall saMl

2§19 9 ?

(1) y[RuH - 235 (2) sleuez - 60

(3) 2R3 - 131 (4) sl0i - 14
23, aqufa-l qlg we ........ gesel 2lasdl Sy o,

(1) 13l
(2) L[5
(3) 2l

(4) ARux
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18. In the nuclear reactor to control the chain reaction, it is necessary to ........ .

(1) Increase the speed and number of protons.
(2) Decrease the speed and number of neutrons.
(3) Increase the speed of neutrons and decrease its number.

(4) None of the above.

19. The maximum capacity of ‘L’ shell is ........ electrons.
(D)2 ) 8
(3) 18 4) 6

20. Name the acid present in tomato.
(1) Citric acid
(2) Tartaric acid
(3) Oxalic acid

(4) Lactic acid

21. Due to excessive use of chemical Fertilisers the ........ of soil increases.
(1) basicity (2) acidity
(3) salt (4) None of these

22. Which among the following radioactive isotopes is used in treatment of cancer

disease ?

(1) Uranium - 235 (2) Cobalt - 60

(3) lIodine - 131 (4) Carbon - 14
23. For growth of plants ........ is essential.

(1) Hydrogen
(2) Oxygen
(3) Nitrogen

(4) Sodium
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24, oMl iy Al - Sld ddl At o,
(1) dLAsR (2) dR&elR (Tarafdar)
(3) €3S (4) AfaLsiz

25. oMl iy GlAdl A Sld ddl Ase v,

(1) ilewq (2) 545
(3) UL (4) Ao
26. 5 5 o ugdlAl L.l [aili 26(los 211 AL daell svlal @l 9.
(1) 90 <l 175 (2) 90 4l 120
(3) 90 4l 150 (4) 90 4l 110
27. ogollds Y, (e ... [2al HelleHi >ud €9,
(1) 14 %= (2) 29 ALOR
(3) 7 »ha (4) 14 legoR

28. AuBLs wiell ugMaL s1ell syl ?
(1) Rl &t s uell
(2) %[ alaw
(3) iAo das Andr
(4) vldR 2 [Zeslasidl auzlal

29. yeefluz €2 ad el ........ acdlsu a6
(1) 12,500 - 14,500
(2) 12,000 - 14,000
(3) 12,400 - 14,000
(4) 12,200 - 14,200

30. 2[eEdld slaedl BUSIR ..., Sl €9,
(1) 5 - 100 Hss1Hlex (2) 1 - 10 HsiHle
(3) 5 - 100 “i-i{lex 4) 1 - 10 <-iHlex
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24. Find odd word from given group.
(1) Coecus (2) Tarafdar

(3) Bacillus (4) Spiral

25. Find odd word from given group.

(1) Protozoa (2) Fungui
(3) Bacteria (4) Algae
26. After dog bite symptoms of Rabbies appear within ......... days.
(1) 90 to 175 (2) 90 to 120
(3) 90 to 150 (4) 90 to 110

27. World health day is observed on .........
(1) 14" June (2) 29™ September
(3) 7™ April (4) 14" November
28. Which of the following is natural cause of water Pollution ?
(1) Waste water from Residential area.
(2) Erosion of soil.
(3) leakage of mineral oil

(4) use of insecticides and fertilizers.

29. Average annual occurence of earthquake is ......... .
(1) 12,500 - 14,500
(2) 12,000 - 14,000
(3) 12,400 - 14,000
(4) 12,200 - 14,200
30. Size of Prokaryotic cell is ....... :
(1) 5 - 100 micrometre (2) 1 - 10 micrometre

(3) 5 - 100 nanometre (4) 1 - 10 nenometre
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31. sRdsell (Rdaas)l 2usdni wAASS: HHL HIL Lol

R

(1) A (2) B
3)C (4) D

32, AU HiAd]L eeUdl g8 HolslA el ... Mdlelex dlgl udaami 21a 9.
(1) 72 () 75
(3) 71 4) 70

33, %UHL A ol A6 VLOVAL,

(1) ylRul (2) AL
(3) Bl (4) sleaun

34, W6l MUY, ... Hie UG 6.
(1) & (2) uglall Ay
(3) dA (4) 8

35, BIAALOUL UBAHL ..o aduld Sl 6.
(1) A 2) suvll
(3) aER (4) %est
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31. Identify ‘Thylakoid’ from given diagram of Chloroplasts.

(1) A (2) B

3)C (4) D

32. Human heart pushes ......... ml. of blood in one beat.
(1) 72 (2) 75
(3) 71 4) 70

33. Find odd word from given group.
(1) Urea (2) Ammonia
(3) Creatinin (4) Calcium

34. Ranthambhor Sanctuary is Famous for ....... .

(1) Lion (2) Tiger
(3) hynae (4) deer
35. ... Plant is found in grassland region.
(1) Teak (2) Kusali
(3) Deodar (4) Sandal wood
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36. [Am[alBid gedliia s10sH 2qAUR Quil.
(1) ad S+l 2l (o1) Aclual il sl

(5) [gdla 2ide-u218l Yorll AulM (3) Ao+l A4l

wuly
(1) Q""’ ‘%’ b"‘) 5 (2) 01" ‘%’ 57 Q""
(3) 67 le‘? 5S? (’{' (4) ‘%7 \57 (,t7 le’

37. 1857 «ll [Awal 220l A vl uolal-idl ol 2udl 9. duiell qa sRell Al 2lavil.
(1) sleslyR - PR
(2) R[E - GlLOUAIEOL HId
(3) AAHAR - HPUD LS

(4) ALYl WRAR - I sy

38, qHYHIRCU ANANA $128 UES AoML HRARAAL ... A HeT HOY,
(1) daulAs ef2siel x4 viusigl Ay
(2) RAld>4 2 o4fg UL
(3) ol i LBz

(4) RAUUASAL 2 ARl

39. 1 | 1960 il [Bax sul A%dd, (Rule 2y ?

(1) 2l (2) salles
(3) isue (4) HelR
40. HRAML Mle [AMSsd HdelRAEA AL qUDL ... SA AR LAl YL,
(1) 2 - M2l AR (2) dui-l $UAR
(3) Al $AR (4) 48l SUAR
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36.

37.

38.

39.

40.

Select the correct chronological order from the given below ;
(A) Treaty of Vasai

(B) Sati Prohibition Act.

(C) Second Anglo - Maratha war come to an end

(D) Treaty of Salbai

Options :
(HA,C B, D 2)B,C, D, A
(3)D, A, C, B 4) C, D, B, A

Given below are the names of leaders participated in Struggle of 1857 and their respective
places. Identify the wrong pair.

(1) Kolhapur — Chimasaheb
(2) Nargund — Balasaheb Bhave
(3) Sangamner [Ahmednagar] — Bhagoji Naik

(4) Satpura region — Rango Bapuji

Due to Religious Reform movement, human ........ gained more importance.
(1) Scientific attitude and rationalism

(2) Freedom and rationalism

(3) Astronomy and Mathematics

(4) Sculpture and Architecture

Which was the state that formed on 1% May 1960 ?

(1) Goa (2) Karnataka

(3) Andhra Pradesh (4) Maharashtra

According to ........ pact, the Indian National Congress agreed to seperate electorates to
Muslims.

(1) Morley — Minto Act (2) Lucknow Pact

(3) Lahor Pact (4) Pune Pact
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41.

42.

43.

44.

‘ASlAL UALs BUELd U1 (B2l AEsdAl AUl UR 25318 vlAl sisldl A 9.7 L [Qaie

sie, €9 7
(1) U. wdlsdld A3 (2) Argela 21002
(3) UsLcHL AL (4) dAldl dudUY

AL PRI s A avil,

(1) Heaul 40gl (2) dlgw AR

(3) soil g (4) %Laue [

Bletrl AANE WeAl-l $%d dlgsirl IS Sladlel UL AHS USIRAL ALsHl ey 531 vl

(1) dld AL
(2) AlHAd MHIRd
(3) 2id2llad uHdl

(4) 2URBLE e

[FleBianiafl s34 adHiust 3. eleunsel vHiolss: A3 s34 Al ?
(1) %=l

(2) AHdl

(3) $u3l

(4) Ysus
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41. Who said following sentence; “Every blow on my body will prove a nail in the coffin of
the British Empire.”

(1) Pandit Jawaharlal Nehru (2) Rabindranath Tagore
(3) Mahatma Gandhi (4) Lala Lajpat Rai

42. Identify the person in given picture.

(1) Mallappa Dhanshetti (2) Shrikrishna Sarda

(3) Qurban Hussain (4) Jagannath Shinde

43. Which group of Bhai Kotwal in Karjat taluka of present Raigad District made the gov-

ernment helpless and witless ?

(1) Lal Sena
(2) Abhinav Bharat
(3) Anushilan Samiti

(4) Azad Dasta

44. Which of the following news paper was not started by Dr. Babasaheb Ambedkar ?

(1) Janata
(2) Samata
(3) Kesari

(4) Muknayak
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45. 10 %1 1890 2l 139Ul (Al visaldls 2 HolaL @, d M2 Udel AR SIHAUR .l
18L&l ?

(1) sllute »yd 3idl (2) Y155 AeHE
(3) L. 4. 2zl (4) ARG HEW ALV
46. dAdrll slel - 212 sddl-dl WIollos dulsd Hsd sAL HI ... AORCRTETETR
Y.
(1) 22U ¥ dloy (2) WLSIR
(3) 2URLE MHIdS (4) 2Loud SiAA AR

47, olgetl RotHicl serl suL 0L AcdAsn Aoi[fd 9 ?

(1) Ay (2) HURIAEL
(3) Ualar 4) =idl
48. uuAHiYl 22199 A d il

(1) [FR® AAw - a1l
(2) 2URUWY £Tll - VHIA
(3) el dAlslu - ol

(4) AHAg 20flR - YHd

49. Acslolerdl YILA YOEIR .......... 2 ojzavis UR sHRL 5Y.
(1) HeMeLiA ol (2) g el
(3) Al oiYy ogel (4) A@oruil-
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45. Due to whose efforts, workers started getting weekly holiday on Sunday ?

(1) Shripad Amrut Dange (2) Muzaffar Ahmed
(3) N. M. Joshi (4) Narayan Meghaji Lokhande
46. ........ Dal was founded to liberate Portuguese colonies of Dadra and Nagar Haveli
in Gujarat.
(1) Gujarat Youth League (2) Razakar
(3) Azad Gomantak (4) Gujarat Congress Committee

47. Identify the place of satyagraha given in picture below ;

(1) Solapur (2) Dharasana
(3) Peshawar (4) Dandi
48. Identify the wrong pair.
(1) Niraji Rawaji — Nyayadhish
(2) Annaji Datto — Sachive
(3) Dattaji Waknis — Mantri
(4) Ramchandra Dabir — Sumant

49. The Mughal Subhedar ....... of Allahabad attacked Bundelkhand.

(1) Mohammad Khan Bangush (2) Hussain Ali

(3) Sayyad Bandu Abdulla (4) Nazib Khan
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50. 1410y Al vl
(1) Azl - SHieanEl
(2) ofls=-l - ggeaudl
(3) ollay-l - 2uleaasl
(4) AeHedR Al - [FamaLel

51, UMM uglael At USIRHL S s151E] v €l o ?

(1) AU (2) usAHA{

(3) ArlMal (4) ALsSAML 28
52. sAAMus Wl $5d ..., ACUALEHL 2% SAUHL U 8.

(1) AlsARML (2) ATUAL

(3) [Aauve CARSIRIICH]
53, GIRAML ABUAUMLAL AHEUS ... sl €9,

(1) Ugula (2) Gurruld

(3) uaAHAl (4) Hou il

54, R [QuiAHIML s S2el us Sld 9 7
(1) 250 (2) 288
(3) 78 4) 60

AN

55, sul gt ol yeiuel AMMd a3y e,

(1) 24Rs1 (2) MId

(3) Hoa=s (4) A2
56. ... Alenl Yo [BHE21S1 L ol Sl 9.

(1) e (2) R

(3) Vel WA GERKIICE
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50. Identify the wrong pair.
(1) Varhad — Imadshahi
(2) Bidar — Qutubshahi
(3) Bijapur — Adilshahi
(4) Ahmadnagar — Nizamshahi
51. Who is the excecutive head of the presidential system of government ?
(1) Governor (2) Prime Minister
(3) President (4) Loksabha Speaker

52. Bills related to taxes should be introduced in ......... .

(1) Lok Sabha (2) Rajya Sabha
(3) Vidhan Parishad (4) Courts
53, . is the ex-officio chairman of Rajya Sabha.
(1) President (2) Vice-President
(3) Prime Minister (4) Chief-justice
54. There are ........ members in the vidhan sabha (Legislative Assembly) of Maharashtra.
(1) 250 (2) 288
(3) 78 (4) 60
55. Constitution of ........ nation is unwritten Constitution.
(1) America (2) India
(3) England (4) Russia
56. ... clouds are mainly made up of ice particles.
(1) Stratus (2) Cirrus
(3) Alto stratus (4) Cumulus
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57.

58.

59.

60.

61.

62.

HIRAHL Ad@LL HI2 sUL ASl A AULELAL AL GlALS L HiA ML 2419 €9 7

(1) 4o (2) U

(3) sastl (4) A1

UL UHILL UHY APAUR HIRAUL AR 8-00 AUl €ld R Rl Ml Sedl avyl ¢9l ?
(1) etdlRAL 1 Al 30 [MlHe

(2) et 2 alld 30 MlRe

(3) AL 2 alld 30 FMHe

(4) ARl 1 alld 30 @MHe

[FafeBiamial yeefl-l vidoil sl [Actordl ARl s 30 @l 35 (5.l owuy « 7
(1) o159 (2) MR8

(3) Uil (4) vidly sax
ALHLIL Uale sUL HSIRUPIRHL €9 7

(1) WRilzs ) [

(3) elael »edilzs (4) G ediles
U] [Aiold Al il

(1) smslas ses : yel

(2) AHUs B2y : uy

(3) U5 yes : Ry AuR

(4) uFslU 825 : Yg

iddle, HuA AL L isHLl A 6.

(1) 2ux ula adlex

(2) ia Al

(3) Hlex

4) [mdlle:
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57.

38.

59.

60.

6l.

62.

For survey purpose in India, the height of the sea level at ........ is considered to be zero.
(1) Mumbai (2) Panaji
(3) Kolkata (4) Chennai

As per the Universal Standard Time if it is 8 a.m. in the India, then what time it would

be at Greenwich ?
(1) 1.30 p.m.
(2) 2.30 p.m.
(3) 2.30 a.m.

(4) 1.30 a.m.

From the above options, which layer of the interior of the earth is 30 to 35 km
thick ?

(1) Crust (2) Mantle

(3) Core (4) Oceanic Crust

In which Ocean the Somali current flow ?

(1) Pacific (2) Hindi

(3) Southern Atlantic (4) Northern Atlantic
Identify the odd pair from the options given below.

(1) Physical factor — Soil

(2) Social factor — Religion

(3) Economic factor — Mineral Resources

(4) Political factor — Wars

Generally humidity of the air is measured in ..........
(1) Gram per cubic meter

(2) degree Celcius

(3) Meter

(4) Milimeter
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63. HElMl .veieinn... 4 UHMISL Ay sldd HEL $UgU sld 8,
(1) A2 (2) &HA
(3) olle (4) {1
64. ol [Quus ol HilRdl suL vildl WA €ld ¢ ?
(1) 4eyd vig
(2) [l vug,
(3) VURY vilg
(4) 2uld vid

65. el sul vuly @y GelloL 9 ?

(1) A0l st oi-iaal (2) 653l
(3) dlg - Wl (4) As2 RAR
66. ydled usdl FH o YA 1AL GUR 2 dH d¥ UL UL ........... 2y 69,
(1) Gl (2) Hlal
(3) *i~il 4) R

67. AU %Al dlscdl duAL AU uuly 0.

(:b{; 1(’{7
(1) AR Heled (1) 916931 1L
(2) MUl ¥y (61) AUl ®™IdL
(3) visled 3l (5) Gl3L a0
(4) AL AAY- (3) dls eoua

(1) 1-04, 2-31, 3-3, 4-5
(2) 1-01, 2-61, 3-5, 4-3
(3) 1-3, 2-5, 3-61, 4-

(4) 1-61, 2-5, 3-3, 4-
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63. If the proportion of ........ in the soil is greater, the soil become fertile.
(1) Granite (2) Humus
(3) Besalt (4) Niece
64. Which department maintains all information about the land ?
(1) Revenue Department
(2) Education Department
(3) Health Department

(4) Postal Department

65. From the above options which option come under small industry ?
(1) Jaggery Making (2) Bakery
(3) Iron and steel (4) Sugar industry

66. As soon as the sun starts moving up in the sky after sunrise, the length of our

shadow ....... :
(1) moves in upward direction (2) increases
(3) reduces (4) remains same

67. Match the correct pairs and Identify the correct option.

‘A’ group ‘B’ group
(1) Abyssal Plain (A) Shallowest part
(2) Continental shelf (B) Flat part
(3) Continental slop (C) deep part
(4) Marine Deposition (D) Steep slop
Options :

(D1 -B,2-A,3-D,4-C
2)1-A,2-B,3-C,4-D
3)1-D,2-C,3-B,4-A

41-B,2-C,3-D,4-A
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68. I sl AUl [EoL ARlid — 2011 <l 2udvl |2 Uil . ddl 2A2cd 531 [Ber
Ayl [Ed1 el sel.

9900
9000

o ;
i
800 -
. 00 [
voo
200

200
900

g faEw
(1) 1084
(2) 929
(3) 879
(4) 918
69. sdlt eol ......... Rl eailaiy €.

(1) Blaoux
2) FdlHle:
(3) Mlalae:
4) [Mlaaux

70.  sseusla ydASL auid YAl zoid suL udld ool il ?

() (1) (6) (€)
(1) (1) 2) (1)

(3) (8) ) ()
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68. Study the graph of sex ratio of states in India in the year 2011 and find the sex ratio
of Bihar.

9900 . e
9000 T

f?ﬂ'ﬁﬂ\ HJ&ET
EEEREE
-
4 IETEE

TE

}
b
)

ﬂ§
;

-
:

- ISR

(1) 1084
(2) 929
(3) 879
(4) 918
69. Air pressure is measured in the unit of ......... .
(1) Milibar
(2) Milimeter
(3) Mililiter
(4) Miligram
70. Select the correct option,

The shape of the sun disc at the time of Annular solar eclipse.

(A) (B) © (D)
(1) A (2) B
3)C 4 D
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71.

72.

73.

74.

oL AHIdR il s 925t 92 dl Adtdsiaedl sedl Al 21534 A1y © ?
(1) 8
(2) 4
(3) 2
(4) 1

ol s [BLslRleAL oL el A dHl AHUAR A Sl ddl 218 ol oflog [Pisierl AL vell viq
AMl AHUAR A Sl ddl Aold ol A1 53U Sl dl d 6L [BrsleL 569 sA A1 1534 29l ?

(1) v - ol - v

(2) sel-o{n

() vh-vi-ol

(4) Ol - v - ol

5 ALRAAL [Asel-l dons 12 A Sl dl d AlA, Axsa seal Al.AH. s ?
(1) 144

(2) 72

(3) 96

(4) 120

(3a + 2b)’ — (3a — 2b)’ = Sea ?
(1) 54a’b +16b°
(2) 108a’b + 16b°
(3) 108a’b — 161’

(4) 54ab* —16b°
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71. When two parallel lines are intersected by a transversal then how many pairs of Corre-

sponding angles are congruent.
(1) 8
2) 4
(3) 2
4 1
72. When two angles of a triangle and a side not included by them are congruent with

corresponding angles and a corresponding side not included by them of another triangle

then the triangles are congruent by following list.
(HhA-S-A
(2) hypotenus — side
B3)A-A-S
4HS-A-S
73. Find the area of a square with diagonal is 12 cm.
(1) 144
(2) 72
(3) 96

(4) 120

74. (3a+2b)’—(3a-2b)’=?
(1) 54a’b +16b°
(2) 108a’b +16b’
(3) 108a°b - 16b’

(4) 54ab* —16b°
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75.

76.

77.

78.

79.

13 N aa : :
g9 L AHA vy Al2Aidl eaiazu sy ?

(1) 0.1314

(2) 0.1321
(3) 013
4) 0.1317

A x=2" 24 y=22dl x+y= sed?
h-2 2 2
(1) 5 @) 5

1 1
3) 1 4) 5

19683 vl gyu seq ?

(1) 23 (2) 33

(3) 17 4) 27

25 adousla elorg axsn 554400 AL, 9. dl d ewoldl wRe sedl ¢l ?

(1) 2640 . (2) 2200 .

(3) 1800 ¥l. (4) 3080 ¥l.

N

‘0’ Srgaloll ddoll Bosul 13 A+l 9. d aduul 215 wal $wwl 5 AL 2idr

doits sedl ?
(1) 12 L.
(2) 10 AHl.
(3) 20 L.

(4) 24 Al

2]

N

al

d 2al-l
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75. Which of the following will be decimal form of rational no. 99"

(1) 0.1314

(2) 0.1321
(3) 013

4) 0.1317

76. If x=2"and y=27 then x +y=?
M @) 5

G 4 5
77. Cube root of 19683 is = ?

(1) 23 (2) 33

(3) 17 (4) 27

78. Area of a circular garden is 554400 m?. Then circumference of the garden will

be = ?
(1) 2640 m (2) 2200 m
(3) 1800 m (4) 3080 m

79. Radius of a circle with centre ‘O’ is 13 cm. A chord is at a distance of 5 cm from centre.
Then length of the chord is = ?

(1) 12 cm.
(2) 10 cm.
(3) 20 cm.

(4) 24 cm.
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80. ilAd WA w2ell 54 €9 d-l cnsll 54 YHa WA 9. yMasdl 3 sdl cnsll 54 YR
i €9, o 2A8LAL 54l AUALL 1680 T €ld ol lAd uid sedl Myl el ?

(1) 240 X (2) 720 X
(3) 480 % (4) 1440 X

N

81. 5 AUUSIR Sl el At 1.4 Hle € d elogmi 1540 (@ wiell A1 9 dl d ele-l
GlaLs 3edl wa ?

(1) 0.7 4l. 2) 1 .
(3) 0.8 4l @) 2 .

82. ©.4.6.2 10 -1l €2 100000 X Heaig 2 anful A5q[g Ul sed Ul ?

(1) 26050 T
(2) 26000 X
(3) 25000 T

(4) 27050 %

83. 15 g [AdeL sl Y fiXi=24240 24 N =40 dl X (we) = seal ?
(1) 66 (2) 660

(3) 662 4) 606

84. (X' —4x* +6x—-3)+(x—1) = e ?
(1) x> =3x+3
(2) x* —4x +3
(3) x* +3x-3

4) x* + 4x -3
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80. Sunil have double the amount of Rs. than Anil while Sudhir have double the amount of
Rs. than Sunil. If average (mean) of the amounts they have is Rs. 1680 then what will

be the amount of Rs. Anil have ?
(1) 240 Rs. (2) 720 Rs.
(3) 480 Rs. (4) 1440 Rs.

81. The inner diametre of a cylinderical tank is 1.4 m. and it contains 1540 lit. of water then
depth of the tank will be = ?

(1) 0.7 m. @) 1 m.
(3) 0.8 m. (4) 2 m.

1
82. What will be compound interest on principal of Rs. 100000 deposited for 25 years at

the rate of 10% ?
(1) 26050 Rs.
(2) 26000 Rs.
(3) 25000 Res.

(4) 27050 Rs.

83. In a frequency dist. table Y fiXi=24240 and N =40 then mean X = ?
(1) 66 (2) 660
(3) 662 (4) 606

84. (X —4x’+6x-3)+(x—1)=?
(1) x> =3x+3
(2) x> —4x+3
(3) x> +3x-3

4) x> +4x -3
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85. 91Ul [31d U 13% 92 Ul 215 drd 51812 AlesA 1392 WA Al dl d arg-l 1uel

86.

87.

88.

[3ud sedl
(1) 1400
(2) 1500
(3) 1550 X

(4) 1600 ¥

085 AU Adrsiedl uRRBL 40 AL, 9. d Agrsiail i [Qsell dows 16 A4 9. dl
A AHGLY AP Axs0l Sed §l ?

(1) 192 L. A4l

(2) 160 L. A4l

(3) 96 L.l

(4) 36 LA

-~

20l 25 514 20 [BaHl Yol 52 €9 2 2Hd d o 514 30 [BauHl yel 53 0 dl od volld
d s1H Secl [Baumi yel s2ql.

(1) 12 (2) 10
(3) 15 4) 16

ool 2415[dMl PQRS 24 o2l €9 7 (PS) =7 (QR) = 7 A.Hl. C L 5% @ 215 v»dadn
doilAHl g1y 9. vdadordl Bosul 7 Al €l dl 91ailBd s, aoisa s2d ?

(1) 77 AL.AHL. (2) 31 AL.AHL.

(3) 25 AL.AHL. (4) 21 AL.AH.
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85. A shopkeeper sells an article to a customer at Rs. 1392. He gives 13% discount on printed

price. Then printed Price will be = ?

(1) 1400 Rs.

(2) 1500 Rs.

(3) 1550 Rs.

(4) 1600 Rs.

86. Find the area of a rhombus having perimetre 40 cm. and diagonal 16 cm.

(1) 192 cm?

(2) 160 cm?

(3) 96 cm?

(4) 36 cm?

87. Ashok completes the work in 20 days. While Amit completes same work in 30 days. If

they work together how many days are required to complete the work ?
(1) 12 (2) 10
(3) 15 (4) 16

88. Adjecent diagram is Rectangle PQRS where / (PS) =/ (QR) = 7 cm. A semicircle with
centre ‘C’ is drawn as shown. Radius of semi circle is 7 cm. then area of the marked

portion will be = ?

(1) 77 cm? (2) 31 cm’

(3) 25 cm? 4) 21 cm?
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X =7x+10  x*—x-20

8. X +x—-6 T.x2+-7x-+12 = seal?
(D) (x+4)(x-5) (2) (x+3)
1
(3) 1 @ G rax-2

N

90. s s12slRl Busiaiel stesit oiAlaAdl o>l 8 A ML 2 15341, &9 dl
uRada-ll Biosul sedl ?

(1) 7.5 aHl. (2) 8.5 aHl.

(3) 6.5 L. (4) 5.5 QL.

d siesiel BusieHl

NMMS-SAT-18 |VIII|S4 |

38 of 40




X =7x+10 x> —x-20 _

8. X +x—-6 Tx2+7x+12_ ?
(D) (x+4)(x-5) (2) (x+3)
1
(3) 1 @ G rax-2

90. In a right angle triangle sides forming right angle are 8 cm. and 15 cm. Find radius of
a circumcircle drawn in the triangle.

(1) 7.5 cm. (2) 8.5 cm.

(3) 6.5 cm. (4) 5.5 cm.
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